ICR #0584-XXXX CN Integrity Rule - Grand Total				
	Estimated # Respondents	Responses Per Respondent	Total Annual Responses (Col. BxC)	Estimated Avg. # of Hours Per Response
Reporting				
State Agency Level	54	33	1,770	5.535
Reporting Total	54	33	1,770	5.535
Recordkeeping				
State Agency Level	56	27	1,521	1.512
School Food Authority Level	19,822	1	19,822	0.200
Recordkeeping Total	19,878	1.074	21,343	0.293
TOTAL BURDEN	19,878	1.163	23,113	0.69

	ICR #0584-XXXX CN Integrity Rule - CACFP			
	Estimated # Respondents	Responses Per Respondent	Total Annual Responses (Col. BxC)	Estimated Avg. # of Hours Per Response
Reporting				
State Agency Level	54	13	710	4.095
Reporting Total	54	13	710	4.095
Recordkeeping				
State Agency Level	54	27	1,412	1.600
Recordkeeping Total	54	27	1,412	1.600
TOTAL BURDEN	54	39.296	2,122	2.43

	ICR #0584-XXXX CN Integrity Rule - SFSP			
	Estimated # Respondents	Responses Per Respondent	Total Annual Responses (Col. BxC)	Estimated Avg. # of Hours Per Response
Reporting				
State Agency Level	53	20	1,060	6.500
Reporting Total	53	20	1,060	6.500
Recordkeeping				
State Agency Level	53	1	53	0.50
Recordkeeping Total	53	1	53	0.50
TOTAL BURDEN	53	21.000	1,113	6.2143

	ICR #0584-XXXX CN Integrity Rule - NSLP			
	Estimated # Respondents	Responses Per Respondent	Total Annual Responses (Col. BxC)	Estimated Avg. # of Hours Per Response
Reporting				
State Agency Level	-	-	-	-
Reporting Total	-	-	-	-
Recordkeeping				
State Agency Level	56	1	56	0.250
School Food Authority Level	19,822	1	19,822	0.200
Recordkeeping Total	19,878	1	19,878	0.200
TOTAL BURDEN	19,878	1.000000	19,878	0.20

Estimated Total Hours (Col. DxE)

9,797.5

9,797.5

2,299.0

3,964.4

6,263.4

16,061

Estimated Total Hours (Col. DxE)

2,907.5

2,907.5

2,258.5

2,258.5

5,166

Estimated Total Hours (Col. DxE)

6,890

6,890

26.5

26.5

6,916.5

Estimated Total Hours (Col. DxE)

14.0

3,964.4

3,978.4

3,978